Chapter 7: Linear Momentum
College Physics

Chapter 7

Linear momentum

Problems


1.
Use conservation of momentum.
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Since 
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 was directed to the right, and 
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 the total momentum of the two blocks after the collision is 
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11.
Use the impulse-momentum theorem.
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23.
Find 
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So, the location of the center of mass is 
[image: image9.wmf]CMCM

(,)(4.2 cm, 0).

xy

=



31.
Let east be in the +x-direction. Use momentum conservation. The block is initially at rest, so 
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So, 
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45.
(a)
Use conservation of momentum.
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(b)
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[image: image17.wmf]The momentum changes for each mass are e

qual and opposite.



55.
Use the impulse-momentum theorem.
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67.
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Find the maximum kinetic energy of A alone, and thus, its speed just before it strikes B. Use conservation of energy.
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Use momentum conservation to find the speed of the combined bobs just after impact. The collision is perfectly inelastic, so 
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Find the maximum height.
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